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1. {a)

(b)

22L/27a

Jor the questions

What is the difference between Concept
and Convention? Explain any three

accounting concepts. 3+6=9
Or
“Accounting  is  the language of
business.” Explain. 9
{ Turn Over )



{b)

22L/27a

( 2)

Explain the accounting concept of
income. 9
Or
From the following balances extracted
from the books of Megha Tondon, you
are required to prepare Trading, Profit &
Loss A/c and Balance Sheet as on
31st March, 2018 : 9
Particulars z
Capital 80,000
Goodwill 8.000
Loan from X on 01-10-2017
w 15% p.a. 10,000
Freehold Land and Building 30,000
Plant and Machinery 28,000
Furniture 5.000
Opening Stock 12,000
Purchases 45,000
Purchases Retums 2,000
Wages 4.000
Debtors 18,000
Bad Debts 500
Sales 70,000
Provision for Doubtful Debts 4,000
Creditors 19,700
Sales Returns 1.500
Miscecllaneous Expenses 150

{ Continued }



221.f27a

( 3)

F
Sales of Old Newspaper 50
Adverlisement Expenscs 5,000
Discount Received 700
Office Expenses 1,800
Trade Discount on Purchases 1.000
Tlepgal Expenses 500
Carnage Inward 1,200
Salaries 7,000
Rent 2,000
Casl: in Hand 4 800
Audit Fees 1.200
intercst on Loan 500
[nvestment in Shares 2,000
Drawings 400
Dividend o Shares 300
Delivery Charges 600
Books 3,000

Additional information :

Stger  on 31lst March, 2018 was
F 20 000. Maintain a provision of 5% on
Debtors. Provide depreciation on Plant
and Machmery @@ 10% p.a. and on
Furiaglure and DBooks W 158% na.
74,000 of Advertising Expenses are 10
be carried forward to nexr vear.

{ Turn Ouer )



3. fa)

(b)

22L127a

(4)

What s hire-purchase system?
Distinguish between Hire-purchase
system  and Instaiment pavment
system. 3+6=9

Or

Textiles Limited purchased motor lorries
on hire-purchase system over a period
of four years, @ 12.000 was payable on
deliverv on 1g1 January, 2017 and the
balance by 4 annuai instalments of
T 12,000 each on  3lst December.
Motors Limited who sold the lorries
charged 5% F-a. Interest on the yearly
balances. The cash value of the lorries
on delivery was ¢ 54,551, Depreciation
at the rate of 25% op diminishing
balances was written off in each year,

Give the necessary Journal Entries and

show Balance Sheet as on
31st December, 2020 in the bocks of
Textiles Limited, T+2=G

{ Continued j



{a)

{b)

22LJ127a

( 5)

What do you mean by recoupment of
shortworkings? Write the Accounting
Journal Entries written in the books of

lessee for

minunum rent

royalty payable

minimum rent.

Or

through

and without opening

4+5=9

ABC Co. acquired the lease of a mine at

a minimum

rent

of ¥ 10,000

merging into a royalty of 50 paisc per
ton. Shortworkings could be recouped

only
year

The

within the three years following the
in which the shortworking ccours.

lease, however, stipuiated that if

any year aormal producticnn was not

attained due to strike or any accident,

rhe minimum rent was to be regarded as
£

having been reduced proportionately,
having regard to the length of the

stoppage

The outpur was as fcllows

ended
ernded
ended
ended
ended
ended

31.12.2015
31.12.2016
31.12.2017
31 12.2618
31.12.2019
31 12.202¢C

Tans
2000
12500
21500
26000
17000
30000

{ Turn Quer |}



Ik

{ 6)

During the year 2019, there was @
stoppage due to strike lasting for
three months.

Show the Royalty Afc, Shortworking
Afc and Landlord Ajc¢ in the books of

the ARC Co. 3+3+3=9

5. (@) What is dissolution of partnership firm?

What arc the modes of dissolution of a
firm? 2+7=9

Or
(b) Balance Sheet of a [irm as oD
31st March, 2018 was as follows :
Lwabilities Z Assets ¢

X's Capital  5,00,000 Freehold Property 8.00.000
Y's Capital 4,06:,000 Investments 2,006,000

Z’s Capital

3.00.000 12.00.000 Sundry Deblors  1.00.600

Sundry Creditors 2,00.000 Stock 1.50.CG0O
Profit & Loss Afc 1.50.000 Cash at Bank 3,00 000
15.50.000 15 .50.000

22L/27a

The parinership was dissolved on tht
above data X took over the investmaenis
at a value of & 1,90,000.
Cash realized was as follows :

Erchald Properiy-—% 9.00.,000

S ndry Debtors— T 90,000

Srock—T tAHLDO0

{ Continued |



(7))

Creditors were paid on a discount of 5%,
Expenses of realization came (o
¥ 20,000.

Prepare  Realization A/c, Partners’
Capiral A/cs and Bank Afe. 3+3+3=0

221— 1200/27a FA-1/BC-104
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1. Indicate whether the following statements are
True (T) or False (F) by putting a Tick (v') mark : 1x5=5

(@) Reliability is one of the characteristics of
accounting information.

(T / F)

(b} Income increases due to decrease in unit cost
price,

(r / F)

{¢) Under hire-purchase agreement, the title in

the goods passes immediately after the down
payment,

(T / F)

/27



(2)

(d) The excess of minimum rent over actual royalty
is known as shortworking.

[ & &1

fe) 1f the partnership deed is silent, partners share
profits and losses in proportion to their capital.

(T / F)

2. Choose the correct answer and place its code in the
brackets provided : 1x10=10

(a) The full form of GAAP is
(i Generally Accepted Accounting Practices
(i) Generally Accepted Accounting Principles
fiii) Generally Acquired Accounting Practices

fiv) Generally Accepted Accounting Programs

[

(b) Provide for all future losses and ignore future
profits is based on which convention?

(i) Convention of full disclosure
(i) Convention of consistency
(iii} Convention of conservation

(iv) Convention of materiality [ ]
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({ 3)

{¢c) The Hire-purchase Act was introduced in

i) 1982
(i) 1992
(ifi) 1972
fiy) 1952 | ]

(d) Computation of business income is done with
the help of

(i) Profit & Loss approach

(ii) Transaction approach

fiiij Balance Sheet approach

(iv) Both (i) and (i) | ]

{e) Gross Profit ratio is the ratio of gross profit to
(i) net sales
fii} cost
(iii) closing stock

fiv) direct expenses [ ]

(/) What is calculated on the cash price at the given
rate?

(i} Installment
(i) Interest
(iii) Profit
{iv) Purchase price [ ]
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(4)

(g} Royalty Account is in the nature of
{i) Real Account
{11} Nominal Account
ftii} Pecrsonal Account
{tv) None of the above [ ]

fhy Shortworking which cannot be recouped is
transferred to

(i} Trading Account
(i} Profit & Loss Account
(i} Rovalty Account

ffv) Minimum Rent Account [ ]

() What is the partnership writlen agrcement
known as?

(1) Partnership Contract
fi1) Agreement
{tii} Partnership Deed

{iv) Partnership Act [ ]

j)  On the admission of a new partner
i) old firm is dissolved
() old partnership is dissolved

it} both old partnership and old firm are
dissolved

iv) neither partnership nor firm is dissolved
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(S}

3. Write short notes on the following : 2x5=10

fa) Business Entity Concept
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(6)

(b} Intangible Assets
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(7)

{c) Partial Repossession
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(8)

{d) Shortworking
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(2)

fe} Revaluation Account
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